&

n

oo Fe aTeqEe % A TEge @ WA A | (SR 150 et # i)

Discuss the salient features of the Harappan architecture. (Answer in 150 words)
L Toen planny 10
pa

yaaR ¥ uTiE qEeEdr % oyN@ dedEl @ S i |
(IR 150 w=i A Qo)
Examine the main aspects of Akbar’s religious syncretism. (Answer in 150 words)

Ly Pt i }/E’;ﬂa,ﬁu 10

‘Wﬁﬁawﬁﬁﬁmﬁwﬁwm%mhl’
e ifu | (SR 150 v # Q)

‘The sculptors filled the Chandella artform \with resilient vigor and breadth of

life.) Elucidate. (Answer in 150 words) | fafeetofio fe ity 10
B ‘ ( = £

o R ok w wR d gy #E @ i ¥ afee @ & i
® @ 27 SeE ¥ owm wEt At | (SR 150wl # dhi)

How are climate change and the sea level rise affecting the very existence of
many island nations ? Discuss with examples. (Answer in 150 words) 10

ﬂt-ﬁwmﬁmwﬁrﬁﬁlﬁw%?ﬁwﬁﬁﬁ:ﬁwﬁﬁﬁﬁmﬁﬁwaﬁ%
e R AR € 7 IUdTh SeTevit ¥ A == A | (I 150 =1 A Ah)

What are non-farm primary activities? How are these activities related to

physiographic features in India ? Discuss with suitable examples.

(Answer in 150 words)
wgﬁﬁaa%@ﬁa:mﬂ,wﬁ@?mm%w&ﬁuﬁaaﬂzaﬂamﬁ
& @iy & wren @bw | (@R 150 v A Q)

Explain briefly the ecological and economic benefits of solar energy generation
i1 India with suitable examples. (Answer in 150 words) 10

10

garrﬁm%?aaw@raﬂiaﬁ?aﬂfﬁ%?ﬁqﬁ“ﬂﬂw%?mﬁa%ﬁ
wAEEY | (FR 150wl H Q)

What are Tsunamis? How and where are they formed ? What are their
consequences ? Explain with examples. (Answer in 150 words) 10
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10.

11.

12.

14.

Wﬁﬁﬁ&m,mﬂﬂaﬁaﬂimw%gﬁﬁﬁéﬂﬁam
27 (IW 150 v=1 F <)

How does smart city in India, address the issues of urban poverty and
distributive justice ? (Answer in 150 words) 10

WRd # fafdw da @ deeR aEEiEa dR TEE 39 ¥ wiem @
v R -we i | (w150 v A dfi)

The ethos of civil service in India stand for the combination of
professionalism with nationalistic consciousness — Elucidate.
(Answer in 150 words) 10

o w ¢ dvdie @ oo e s omin wef @
7 am I A gt fifvm | (Im 150 w=t F b

Do you think that globalization results in only an aggressive consumer culture ?
Justify your answer. (Answer in 150 words) 10

TGl SARE G & A GUR FAE AR @ 3w & e wl g
T K owwEE A ogen ¥ W=l ffm ) (Iw 250 wet § Afw)

Mahatma Jotirao Phule’s writings and efforts of social reforms touched issucs

of almost all subaltern classes™ Discuss. (Answer in 250 words)“ 15
T TS men | Deky f.,;,)

TSaTA, F e, foen @k seRigm et & fawg @ oamnd & wriee
I A WRA F I HOWRET @1 w@ifed i | (IR 250 gl # @)
Trace India’s consolidation process during early phase of independence in terms
of polity, economy, education and international relations. (Answer in 250 words)

messisienn i il 15

mﬁmﬁm%ﬁquﬁmﬁmﬁﬁﬁiﬁmﬁm%!méﬁﬁm
(R 250 w=1 # dfsw)

The French Revolution has enduring relevance to the contemporary  world.
Explain. (Answer m 250 words) ’

15
fad & ywadm T W & famor @ dfas e Ao | g

Azadt
9 WER # e wEw fwm 27 (I 250 w=t # dfim)

Give a geographical explanation of the distribution of off-shore o reserves
of the world. How are they different from the on-shore occurrences of o1l
reserves 7 (Answer in 250 words) 15
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15.

16.

17

18.

19.

20,

Wﬁtﬁammﬁﬁsﬁ.aﬁ.@.aﬂtmm,aﬁhﬁ%m@
Iferm (vad) sk 99 @ wwdt @1 ¥ sww & fen o owEe R 7
(F® 250 =it # Qfre)

How can Artificial Intelligence (Al) and drones be effegtively used along with
GIS and RS techniques in locational and areal planning ?
(Answer in 250 words) 15

T4t fifve 5w ¥ wd sk wemERE Wi\ ger A wm (AE)
A, wEed geEl h eFfe wfdfafiEt & @ww, uiedd | oEE €
(SR 250 w=i # <ifm)

Discuss how the changes in shape and sizes of continents and ocean basins

of the planet take place due to tectonic movements of the crustal masses.
(Answer in 250 words) 15

W, fedt ok oo wenEl &l wed ¥ @y am W@ 3fm § smEen A
AR wiE R W R (SR 250 v F dfm)

Discuss the distribution and density of population in the Ganga River Basin
with special reference to land, soil and water resources. (Answer in 250 words)

15

MY A weE i fan a $ amE, e w owm oa
-3 e W @ ¥ wchn apE ¥ 9w 9w @ g e e
M| (I| 250 w=t ¥ Gfm)

How do you account for the growing fast food industries given that there are
increased health concemns in moden society ? Illustrate your answer with the
Indian experience. (Answer in 250 words) 15

T R SR W g owad e el wom, wwa S mw & o
MM TE F g . Ny ke
(IR 250 W= H Ay I el feoqoft ifso
Achieving sustat'nablg growth
come into conflict With poop
(Answer in 250 words)

wmﬁmﬁmﬁmé‘%ﬁ,fmmmwmaﬁ-hé%ﬁ%ﬂa'f

g faam e AL OR 250 gy o &ifim)

. ent in India cenyre
bal development | Und twg axes e splacement
Does tri 07 Give YOUT Opinioy, | 0 axes, those of displ

and of rehabilitatio Answer in 250 words) 15

With emphasis on environmental protection could
People’s needs in a country like India — Comment

15
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